ITEMNO.JQTY]  PART NUMBER DESCRIPTION MATERIAL UNIT WEIGHT | TOTAL WEIGHT
A 1 1_|SEE TABLE TNSR-5XX MD, 5" SQ, H HEIGHT, SUBASSEMBLY SEE DWG 101-70-NS5XXM-S | SEE TABLE SEE TABLE
GROUNDING BOLT 0 S¢< PRODUCT WEIGHT (kg) = | SEE TABLE
D L 2 1_[P04-01-CS-RO1 BACKING BAR, CAST STEEL, RIGHT HAND THREAD ASTM A27 0.4 0.4
o 3 1_|P20-CS4X7-S01 HAND HOLE COVER, CAST STEEL, OVAL, 4X7, TYPE SMALL ASTM A27 1.2 1.2
| 4 1_|H10-SS-0.375X3.50-F  [BOLT HEX, 3/8" x 3.50", STAINLESS STEEL, FULL THREAD 18-8 / TYPE316 SS 0.1 0.1
T ‘l‘ TA 5 1_|H10-SS-0.375X1.50-F _ |[BOLT HEX, 3/8" x 1.50", STAINLESS STEEL, FULL THREAD 18-8 / TYPE316 SS 0.0 0.0
6 2 |H70-S5-0.375 WASHER, FLAT, 3/8", STAINLESS STEEL 18-8 / TYPE316 SS 0.0 0.0
B \_HAND HOLE 7 2 |H40-55-0.375 NUT, HEX, 3/8", STAINLESS STEEL 18-8 / TYPE316 SS 0.0 0.0
8 1_|H71-SW-55-0.375 WASHER, SERRATED, 3/8", STAINLESS STEEL 18-8 / TYPE316 SS 0.0 0.0
ORIENTATION KIT WIEGHT (kg) = 1.7
SEE JOB FOR TOP DETAILS - (58]
130 A\
A DESIGN NOTES:
— POLE IS DESIGNED TO AASHTO 2013 STANDARD SPECIFICATION. ALL WIND SPEED INCLUDING GUST.
A FATIGUE AND POLE VIBRATION ARE NOT CONSIDERED IN THE DESIGN. THE END USER'S MAINTENANCE PROGRAM SHOULD
INCLUDE OBSERVATIONS FOR EXCESSIVE VIBRATIONS AND EXAMINATION FOR ANY STRUCTURAL DAMAGE OR BOLT LOOSENING.
(5"] | |- g o THE MAXIMUM EPA OF FIXTURE SHOWN BELOW, BASED ON FIXTURE MOUNTED ON THE POLE TOP, AND MAXIMUM DESIGN
127 gy WEIGHT IS 50 LBS PER 2.5 SQ.FT.
TABLE
PART NUMBER / VPE HFEIOCI;.ET PRODUCT WEIGHT MAXIMUM EPA (SQ.FT)
PRODUCT NO (H) (ft kg lbs *80 MPH | *90 MPH | *100 MPH | *110 MPH
101-70-NS520M-F | NSS 520M 20' 122.1 269.1 38.9 29.6 23.1 18.2
P20-CS4X7-S01
101-70-NS524M-F | NSS 524M 24' 144.2 317.8 29.1 217 16.5 12.5
101-70-NS525M-F | NSS 525M 25' 149.7 329.9 27.1 20.1 15.1 11.4
101-70-NS527M-F | NSS 527M 27" 160.7 354.2 236 17.2 12.7 9.3
(1] 101-70-NS530M-F | NSS 530M 30 180.2 397.2 19.1 13.6 9.6 6.7
——— 579 sq 101-70-NS534M-F | NSS 534M 34' 202.2 445.6 14.2 9.5 6.1 3.6
101-70-NS536M-F | NSS 536M 36' 213.2 469.9 12.1 7.8 46 2.3
b * ALL WIND SPEED INCLUDED GUST
YN
—] [11-1/2"
T ©292  BCD MAX @ BASE REACTIONS (UNFACTORED, NO ICE)
SECTION B-8 . Fz (AXIAL)] 2.2 [ kN [Mz (TORSION) 0.1 [ kN.m
, /ﬁ\ Fx 0.7 | kN |Mx (OVERTURNING9)| 17.6 | kN.m
F 35 | kN [M 35 | kN.
c - / / _ / A y y m
‘ \L\J "
. / [10"]
w [3/1 6"] | @254 BCD MIN GENERAL NOTES:
— -
2 THK= 4.8 . S 1. ALL UNITS IN METRIC (mm, kg) UNLESS OTHERWISE STATED.
< 5" i [1-14"] [2] 2. STAMP BASE PLATE “NP YY” (YY=YEAR)
L 127 3. STEEL SILICON CONTENT:
w B ot Forks oL Sl S 00a%
. - PARTS: Si < 0.04% or 0.15% < Si < 0.22%
8o P10-ST04-00F-006 4. WELDING: CSA W59, W47.1
+ (BASE PLATE NSS5) 5. FINISH: (SEE WORK ORDER)
T (FOR HEIGHT LESS THAN 30', T=19) 6. ANCHOR BOLT @1” X 36” LG GR.400 (SUPPLIED IF ORDERED)
7 CUSTOMER TO SPECIFY THE TOP TENON SIZE AND LENGTH OR DRILL PATTERNS.

(19
279 SQ

et — ]

()
()
O,

— [11-1/2"]
¢ OF HANDHOLE ] N ©®292 BCD MAX

T
N
| C ADDED REINFORCEMENT BRACKET & NOTES AUG 20,2019] RZ HM
= B DESIGN NOTE UPDATED, ADDED NSS525 AND CHANGED H/H COVER TO CAST STEEL | DEC 12, 2015| RZ PN
: // REV. DESCRIPTION DATE | DRAWN | APPRD
¢ - -—H- A ENGINEERING SEAL  |RELEASED DATE. [JUL 14, 2010 DA
o Ry i, ) NOVA 3¢ POL[E
To °8 . / [10"] AT CHECKED BY- DJ N
=N =@ I G0 E=210 0, "
=R = (254 BCD MIN F, Q;\ APPROVED BY: EC
\ : % [SPECIFICATION
i (1] [2] 5. NOUSAVUN NARFAGADTY NSS 5XX MD
@\ —A @) 932 x 51 { _#ewm 3 NOVA STRAIGHT SQUARE POLE-MEDIUM DUTY (3/16" WALL THK)
i I A | B SLOTTED HOLES : j 5" (127mm) SQ. x XX' (XXm) HEIGHT
e _* P10-ST04-00F-007 vaipecS .
Bi E B (BASE PLATE NSS5) "/’Qg,‘g,ww SPEC# 5 JOB# SIZE[ SCALE
! P10-ST04-00F-006 { _
—A SECTION A-A OR (FOR 30" HEIGHT AND ABOVE, T=25) s 22, 2018 REF # ; ; B | NTS |SHEET 1 OF 1
P10-ST04-00F-007 : PRODUCT # DWG # REV.
ORIENTATION
SEE TABLE 101-70-NSEXXM-F c

THIS DRAWING IS THE PROPERTY OF NOVA POLE INTERNATIONAL INC. AND CONTAINS CONFIDENTIAL INFORMATION. REPRODUCTION OF THIS DRAWING IN FULL OR PART OR DISCLOSURE OF ANY INFORMATION FROM IT WITHOUT THE EXPRESS WRITTEN PERMISSION OF NOVA POLE INTERNATIONAL INC. IS NOT PERMITTED. FILE NAME: 101-70-NS5XXM-F SAVED: 22/08/2019



dlee
Line

dlee
Typewritten Text
NSS




